MAAS5

Analyyttinen geometria
Viikkotehtavat 1
Ratkaisut

Tehtava 1

Laske ilman laskinta lukujen 2\/§+1 ja \/§+4 etdisyyden tarkka arvo. (3 p.)

Tehtava 2

Ratkaise yhtdlé 2| x—5| -3 =5.(3 p.)

|@V5+1) - (5+4)| =|2J5+1-5-4]

=[5 -3]
=|\E—0«/§|
=-(5-3)
=35
2|x-5|-3 =5
2|x—=5]|=8 ||:2
|x-5|=4
x—5=-4 tai x-5
x= tai x=9
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Tehtava 3

Ratkaise epdyhtald |3x+4|>5. (3 p.)
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Tehtava 4
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=i =6 =0 =4, =3 =2 =1 0 1 2. B 4

Ratkaise epayhtdld | -5x| < 5.(3 p.)

|3x+4|>5
3x+4<-5 tai 3x+4>5 (1p)
3x<-9]:3 Fx>1
x<-3 tai x>§ 2p)
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|-5%| = 5
DE-5% JA —5E=3 (1p)
JXZ5 |5 -3%=< 5 |5
<] JA xz-1 (1p.)

-1<x<1 (1p)



